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QUESTION 1

When a single file match is required where all records must be processed through every pass, what match type is
required?

A. One-source Dependent
B. One-source All-Passes
C. One-source Independent
D. Two-source Many-to-one

Correct Answer: B

QUESTION 2

You decide to classify values that are often spelled or represented incorrectly in your data. What is the correct way to
implement this classification?

A. In the Standardization Rules Designer on the Classifications page, classify these values independently.
B. In the classification definition, increase the similarity threshold for the values that are represented correctly.
C. Use the results of the Word Investigation to identify default classes and then assign the values to a custom class.

D. Use the results of the Character Concatenate Investigation to identify values that are spelled or represented
incorrectly, you can classify these values independently.

Correct Answer: C

QUESTION 3

Which statement about the jobs used by the Match Specification Setup Wizard is true?
A. The jobs must be created.

B. The jobs must be imported.

C. The jobs exist for only One-source individual match.

D. The jobs are created in the repository at installation time.

Correct Answer: A

QUESTION 4

You added a new field to matching fields of an existing match specification and provisioned all match specification
components. Then you ran the job but it failed immediately. The input data size is 2G bytes and the job worked without
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any issues before you modified.

What is most likely the cause of the problem?
A. Lack of physical memory.

B. Lack of scratch disk space.

C. The job needs to be re-compiled.

D. The frequency file needs to be re-generated.

Correct Answer: A

QUESTION 5

What is a function of rule sets in the Standardize stage?
A. Survive

B. Parsing

C. Dedupe

D. Removal

Correct Answer: C
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